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In GPS the navigation data are uploaded from several
ground antenna upload station.

l.leren. - & CreliGaagen  CLLLT&ESET eTOID LI 12008
Sparrernt HGar. aGLayailer @mba SiuGar’ Qeuwiu@GSpg.
(A) 5m-—P-band (B) 10 m — Q — band
5 — 9 — Guesr 1018 — dly, — Cuen’
(C) 15m—R-band V) 10 m—~S—band
15 8 — it — GuertL 10 &8 — ere — G

(E) Answer not known
cflenL Qgflueiichena

Select the correct four applications of GPS

sil.19.erav. - & gflwuner preng Lweur el CaTbAgshssa)b

(A) Datum, Level, Surface, Fall
‘&76, WL, urlil], @n&sLd

Vé) Navigation, Location, Space, Marine

auflQeanssed, @b, elagnteuafl, &L #rips

(C) Bearing, Reading, Levelling, Error
srtfladr, sansd@, swearLbHssd, Nepaar

(D) Correction, Result, Computation, Solution
S8, Wigeysdr, Gnss sas&bH. Siey

(E) Answer not known
aflen Qgtlweidena
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known as a parameter {(electrical quantity) that can be

varied in such a way as to convey information in GPS. _
gl 4.eren. @ @@ urgr  Bled  aeslflssd  sseudasemen

CsrhiluusnE WLID&EFH(HILD.
\/(A) Signal

LT
(C) Data

Sey

(E) Answer not known
allenL Ggflwelcdrens

4. The advantages of GPS survey is
shl.19.erev. FTGeuullen BHeanipgeT

\/(A) High Precision
o Wit géadlwid
(C) Night operation only
Brey uGragen wL B

(E) Answer not known
eflenL. Qgflweidrens

490-SURVEYOR AND 4
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(B) Multimeter
edlg WLt

(D) Computation
Ga&& (R

(B) Weather Dependent
cunefleney FribHsg

(D) Site Intervisibility Required
sar @ Geuall Caena



In GPS observation techniques and methods, of each
satellite are known.

. 8.erev.  semmasrerfliy  mUumsar  oHmb  pepseld  geiGeun(m
Qewheanss&Gamaflar SiflwanBEleme. ,

(A) XY, XZ, XX coordinates
XY, XZ, XX gmrideaumiLy

(B) Latitude, Longitude Coordinates
2 sQrens, SisaGreans aupnmdlamentiy

\/é) X, Y, Z, Coordinates
X, Y, Z uslsremeyser

(D) Observation Coordinates
Crréa@se e@mmSlanentiiL

(E) Answer not known
eflen_ Qg flwelidheney

The accuracy of point positioning with GPS averages is

lberav - wL e Yerafl HlencliLihssadler gaelwd gyrsl D SLD.
\/(A) + 10 meters (B) £ 15 meters
+ 10 S Lirser | + 15 Sr a6
(C) = 17 meters (D) £ 20 meters

+ 17 S Liser + 20 S irser

(E) Answer not known
cllenL Qgflweiidveney
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7. The military derived grid system divide of UTM is
meters square parts.

weflaursd yirareveuiey QuwiCsi i (UTM) @rrgneusdedlmbg GupiucL

Croosileowiy o S i @enl Qeuelluftey egir st ors SREEng.
(A) 500 m +® 1000m
500 S 1000 Sci
(C) 2000m _ (D) 3000 m
2000 S 3000 S i

(E) Answer not known
ellenL GQgflweildane

8. consists of a master control station in Colorado
springs, Colorado with five monitor stations.

QameoprGLnr svlifiiey, QarerrCLr ghg wreillLT Hlaowuksmans
. QaneaL. (pgeienng sl Huium () Heeusamss dareaTherarg).

(A) Space segment
eunenGleuetl QasGwar. (19fley)

\/63) Control segment
sl_Huurc (@ GesQwaT s (Gfla])
(C) Orbit segment |
somureng Gfley
(D) User segment
vwert Gestloar (Gfey)

(E) Answer not known
e Qgtweideme
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9.

Satellites Transmit accurate time using on board

Qewperss  Cardser vweru®sdl,  godlwwrar  Crysans
Sigtiydlerpen.
' VG\) Atomic clock (B) Master control station
SIS Sl STFLD pgementd L HLUT () Hlapeowibd
(C) Ground antenna (D) Monitor station
FEn 2,6l e samamentlli Hlanauib
(E) Answer not known

aflenL Qgflweildwency

10. The control segment of- GPS is located

11.

gl 19eran. - & sUGUUTLE Dfley SHNDHSIETETG!.

(A) on space vehicles (B) on rockets
cllembeuafl cumsensdl Tr&Gsl_Hoeafled

(€) on aircraft - v(ﬁ) on the ground station’s
cllomengdled gy levawriisafld

(E) Answer not known

eflen Qaflweiicvene

The. segment in GPS consists of orbiting space vehicles
satellites.
&9 6ran.- 6 o @Tem Gfley eflameuafl eungen Qswphens Gardrgener
ahmit urensuiley uWSGEDG.
(A) user (B) control
L@ - TR (\IW]], fN (N
\/&3) space : (D) computation
el @ euaf) e & (D)
(E) Answer not known

eflen GQgfwueilcvene
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12. They are launched between 1978 and 1985 on
Atlas ‘F’ rocket.

TR (R AW € O Una;@aL@a;aﬂa) 1978 LD;_T)QJLD 1985 & @am_ufﬂcv

Qewunenssd Cametser geuliLl L ai.

(A) 09 satellites \/ﬁ) 11 satellites

09 QewupenasCararsar 11 QewiphenssCamerger
(C) 15 satellites (D) 17 satellites

15 Qewpherss&Candradr 17 Qswhenss&Candrger

(E) Answer not known
eflen. QgMweiideana

13. The three segments of the GPS system are the space, user and the
. 19.era emwdes epeirmy Wflayser @L b, Lwes wHmib

(A) Interface ) (B) Human
@enLps Afley waflg Gfley
.\/é) Control (D) Computer
sU_houm® Gfley sanflafl Aifley

(E) Answer not known
' ellen GgMafdene

14. country developed the GPS.
: BrH sl.b.erev. & 2 (Heursdlwsg,. .
\/é) USA (B) India
< Cwfsam Gpgwur
(C) Russia - (D) Italy
poisuwin @bpned

(E) Answer not known
- dllen Qzflweldane
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15. IRNSS satellites expansion
IRNSS én afifleungsib

V(A) Indian Regional Navigation Satellite System

@pdwer warL.® suldl AFuDHnssEHTET S

(B) Indian Real Nagpur Satellite System
Lpdlwuer 2 amenw FrsT dFwupassEGame by

(C) Indian Regional Nature Service System

@ndwer nere Crésr sieien senwiiy

(D) Indian Reserve Neutral Satellite System

. @pdwer @piy pEHbleme GeupanasGardr ey

(E) Answer not known
cllenL Qg flueidana

9 490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)

[Turn over



16. Select the correct statement in following (accurates in GPS) :
Aemeupd  eunddlukisefld  slluremaupeny  Coipls®ss.  (8).9.ere.
gioallwgdharerenal)

‘(1)- For a soldier in the field enough to accurate 10 meters ;
@ Huumisg &worr 10 Bl L péGar QméEh Hew C'o’urrgjmrrmg,rra;
BosGL

(1) For a ship in coastal waters accuracy on the order of 5 meters
sLGany Bild e suugss swort & Blii godub Gurgwragrs
BmsG0

(1) For a land survey field work accuracy dlstance In a men

' 30 meters
Blo sereneusdr Gaiiwyb well 5@i6@ 30 L8|_|_rr SILD g,ja)cé]u_jmrrcm
SieTeneu WsTHSEGWD

(iv) For a geodetic land surveymg however accuracy requlrements

are 1 centimeter

QCwrQLgs Hiew é{mcﬁl_u”_r)@ gldeSlwd 1 Q&@TLq.LS:_L_rr Gurrgjmrrmg;rraa

Bms@id

(A) (1) and (iv) is correct \ﬁi) (1), (i1) and (iv) is correct
(1) wpmb (V) &l (1), (ii) wopmb (1v) &f

(C) (@), (1v), (i1) 1s correct (D) (1), (ii1), (iv) is correct
(1), V) wppud (11) & | (11), (111) womib (Av) &f

(E) Answer not known
sllenL Agflwuaidens
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17.

Starting a GPS survey decide which system to use.
B.Gleer.  semsbesBuemu  CsTLmGaushE pen LI
vwetupss GeuamBb araruamss Siorafidsalib.

(A)

Ve

(E)

‘Traversing | * (B) Orientation

yerafludledr Ggmmdl uwianfiss Crré@b Hlenawent uwmu@g,(@
Co-Ordinate (D) Co-efficient

(midlanertiy @enent Gawddper

Answer not known
eflenL Qgflwueiidana
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18. Assertion [A]

i@é,}upé;&md) [A]

Reason [R]

srrewtd [R]

GPS is a satellite based navigation system
made up of a network 24 satellites placed
into orbit.

2 @aeraile Havaorin(y fevLd eremugy

Celigeneliqener  Sluen wng  Gasmabrg).

CrelCaagein &evL_Lb QL Ceuné

24 Gl el senem Ml iqed QaramLg. '
It possible to non precisely identify locations

on earth by measuring the distance from the

recelver.

ffleulr epetd FIysms saredBHieuger ppad Lluled
eemer GLiisemer HOOLIOTS BeLwnaID shrem

- (PgyLd.
(A) [A] is False but [R] is True
[A] seupy <pemrad [R] &

\/(B) [A] is True but [R]

1s False

[A] &l e [R] seugy
(C) Both [A] and [R] is True
[A] wpmw [R] Qranpn &f

(D) Both [A] and [R]
of [A]

1s True but [R] is not correct explanation

[A] vppb [R] @ranpn o, @ssier [R] eeug [A] & sfiwren

MESLD D6y

(E) Answer not known

eflen GgRwaeldene
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19.

20.

instrument identify the geodetic control and plate
tectonic studies.
sme® HCWrEdLgs sUHUUILL  J@LWrerd &reruUghHELh
QuéBLrafls s upi iy AeiieughGd LweTLREDS).
(A) Total station (B) Trone
Qrgg Bleveunbd L. Grmen
‘/«3) GPS (D) Receiver
.19 eraiv. félouir
(E) Answer not known
- eflen. Qaflweildend
Consider the following statement relations to the GPS :

.1 9. erev. Ggmiuner eTeu(pld SaPDISEET BTmIs.

)

D)

(A)

(E)

GPS calculate the speed, bearing, trip distance sunrise and
sunset time.

al.l9.erev. Geusld, sriigd Foer, Lwewr gmb, Gflu 2gwd wWHDIb
IievF LD SasH Hlmg!.

Lesser time to complete the survey and survey with great
precision of these.

Geopaurar  Cprsde  sansCsBueru  @pyssemd  wpmb B
gl@elwinmer ie|sEHdh@ Lwarafls@d

Geuppier

(I) is true . . . (B) {dI)1s true

D v b sRwreng (II) v Ew sfwrang

(I) and (IT) are true (D) (@) and (II) are false
(D) wpmd A1) sfwreng (D wppw (A1) seupreng

Answer not known
cllen Ggflueiidvaney
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21. The thickness of top layer or wearing coat of a bitumen or tar
concrete varies from

st srendlfi_per G i(&E dwg Ceufli Camliger s
SLGWD. - . ‘ : PR
(A) lcmtol.5cms

1 @&.18. apsd 1.5 Qe euanry

\/63) 2 cms to 2.5 cms
2 Qz.8. s 2.5 As.b cuany

(C) 3cmsto 3.5 cms

3 Q&.8. s 3.5 Q&5 eueny
(D} 4 cms to 4.5 cms

4 Qg.8. s 4.5 Q.5 euanr

(E) Answer not known
eflen Qsflweldensd

22. to enable free movement of Traffic around an urban area.
souwrar GUIEEeaISEISEsNs BaTUDSMS SHOI Cum_tiupGdps).
(A) Highway \/é) Ring Road
QpHerarane . GUL L& &TeneD
(C) Expressway (D) Motorway
denreys srane UTESENE FTNE

(E) Answer not known
eflen Qgflweldana

490-SURVEYOR AND 14
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23.

24.

.(A) 2 1 3

Match the following :
Gemeumeuaneupeny QUTmHSHIS :
(a) Sub base 1. Cross drainage
Flenemt BienLoLiL (GHMI&E g &eD
(b) Cause way 2. Over the soiling
amev Geu wer sanpullan g Curieug
(¢) Base course 3. Foundation layer
W&EWL SepLiy Sevdleuny HHEE, -
(d) Wearing course 4. Carpet
Gue ewuy SLOLIGTLD

@ G -© @

4
B) 4 2 1 3
G 1 2 3 4
v 3 1 2 4
(E) Answer not known
cflen Qgflweiicrensy
Choose,
After certain length of straight routes, a slight bend should be
provided to break the and keep the drivers alert.
Caiey e,
Coyrer urengseflen GHuA_ L Sargdpa@l Gng AP eueare| GarRluu
Cauam®d. @g — ——— seliss, @Lanisaer QUL aeusdmes
2 sa4flpg.
(A) Speed (B) Sleep
Ceusgans ' FN&E5SNS
(C) Tired \/6) Monotony
Ganireney CurGarmGL el enw

(E) Answer not known

efenL Gz fweicrena
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25.

Choose,
Aerial photographs may be taken on a scale of
CsihbsHésaiD,

aunanauifl YesliLuL MEET ahg cvBaeld er@ésliL emb.

&)  1:20,000 to 1 : 50,000 (B) 1: 10,000 to 1 : 20,000

(C) 1:5,000t01:10,000 (D) 1:1,000t01: 5,000

(E) Answer not known
dlen Qg flweiidane

26. During preliminary survey, the cross section taken at about

interval in Rolling Terrain. |
wieumhs  puiefler  Gumg, Cuo@ udteromer  HleodiuFiided
Gent_Geuafluiler @mis@ Qe Carhpd erhisastiur. GeusimHib.

V& 50m (B) 75 m
50 15 _ 75 8
(C) 100 m (D) 125 m
100 8 125 8

(E) Answer not known
cilen Gzflueidame

490-SURVEYOR AND 16
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217.

28.

Among the following identify which is not related to reconnaissance
survey

Deseucheuareuddlad, 2.arey ey semsGahugier QgrLiry @doarse e
ST HluieyLb. o _ .
vé) Detailed levelling
el fleurar Geeuadim
(B) Value of land
Blegdler vy
(C) Climatic conditions
smeoblenvger
(D) Terrain and soil condition
Bleoouriy whnb weirenflar geranto
(E) Answer not known

eflen QAgflwuefdana

‘road is not according to importance.

ag SpssanL sroe psAusgeund GNelar S agng.

(A)

©)

(E)

Class I roads (B) Class II roads

WD UEGLILE FTane QT eu@GULE FTene
Class III roads | \/(6) Class IV roads

APEITDTLD QUEGLUILIF FTeney BISTEMD eU@GLILE FTene

Answer not known
cflenL GQafwueildoane

17 490-SURVEYOR AND
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29. roads serving areas of production and markets, industries,
residential areas, railway stations and airports etc.

_ sraeEET 2 HLUSSH WwHmD Fhengser, Aambhereamaser, @yuimoy

T ngdsdr; quler Blevewiisdr whmib ewrearHlawwumsd euflurs Qeddaner. -

(A) National Highways (B) State Highways
Csélw AB{H ErsreanasaT wrfle Cn{HErFTamasaT
ﬁ) District Roads (D) Village Roads
OreU L FNEUSET Hyrw FTenesET

(E) Answer not known
eflenL Qg flweidene

490-SURVEYOR AND 18
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30. Consider the following statements :
Geeugpld smhmibsamer smsHew Gamens :

1.

2.

(A)

(B)

)

()

National Highways connecting foreign highways

Csflw QpHEreramasd Geuallpm_H Fnanasaer @)enanédng

State Highways connecting district head quarters

wrHle QBHEEFTMSET MGUL L e FSIE&GMET Qaamnsslng)

The specifications of the major district roads are not same as of
state highways _

wpsHAw wreul L srameseiear eleurs@iiy wrble drHeerasefier
efleurs@Miy Gured @eaeama

Many of other district roads remain closed due to the traffic

during Monsoon
Lo wrail L sraasafs wapsstasda CursGarssg HnssiuGEpg:..
1,2 and 3 are correct
. 2 wppd 3 &

and 4 are correct

~-

o el Y S S
Qo o B DD Ll o BN

whHmib 4 &

-

and 4 are correct
whmib 4 sl

~»

and 4 are correct

-

wHHIb 4 &

Answer not known
clen Caflwueldens
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31. The frame limiting the drawing space should be executed with

continuous thin line of mm.

euenTUIL g6 @@ulﬂl_,g,mg, cuerueap Gauyd SUbGrenw Qg,m_&eﬂmrrm
QuaodlwGasrh - - 1615 serefled Gmsa CeuadmBid. -

(A) 0.8 (B) 0.7

© 06 VD o5

(E) Answer not known
eflent Qgflusicdena

32. The area of Ao demgnation drawing sheet is
Ao e mmr}uuLg,g,rrerﬂm LII]'lJI_IﬂTQ.|

(A) 0.25 m?2 (B) 0.125 m?

0.25 sgymSr i 0.125 sgimbe i
\/«3)_ 1 m2 ) (D) 0.5 m?
1 sgipbi 0.5 sgymBr it

(E) Answer not known
eflenL Ggflweildana

33. Omne of the orientation marks always points the

draughtsman,
Crra@hlamas @salld qam aiiCungid euereurereny Qedlpg).
\/'é) Towards | ‘ " (B) Upwards
(€773 CuoGrrsd
(C) Downward (D) Forwards
- &pCrré&d ' C parGanéd

(E) Answer not known
aflen Gsflweldane

490-SURVEYOR AND 20
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34.

should be located at right hand bottom of the sheet.
auenyuLSsreafian Sperag awb(Hss CouaTHib.

véx) Title block
paatiyb dargs
(C) Border
&8s edlads
(E) Answer not known

eflenL Qaiflweildbanc

(B) Grid

sl

(D) Layout

SeTauaenLolIL

35 The standard line thickness of the border is
cuenTUuLEseaflen LsseiladE Cam g6 Sigloe

36.

(B) 0.40 mm
0.40 HNéved S

v 060 mm

0.60 Waved BSei

to determine the natural and artificial features on the

yuhlen Sgerer Quipesswirer woppd Cewpeaswuner bsmsamers Soraflss

(A) 0.30 mm
0.30 Beel S
(C) 0.50 mm
0.50 Beved B
(E) Answer not known
eflenL Qg flweildana
earth.
. 2 5adns. |
(A) Topographical map
GLmOBurndlymss s Gl
(C) Astronomical survey
SCrrCrmiléad e
(E) Answer not known

dilenL Gsfweildwens

21

) Topographical survey
CLmuCGurdlyrl 9éa6 #TCau

(D) Geological survey
BCwrogssd FrGe

490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)
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37. FMB éxpansion 1s
FMB &n affleurssid

| \/é\)
©)

(E)

Field Measurement Book (B) Field Metropolitan Book - -

Yo Aemeil(h Usssid Lo QUBBET LSSEWD
Field Main Book (D) Field Material Book
e wpadlu 4sssb Lev Dummet U ssbd

Answer not known
ellen GgRwalcrenav

38. The survey in which the curvature of earth is taken into account is
known as - _ __
blller  eueneteneud semadley  Garam®m  Cuplamdremtiu@hn  #rGeusd

A)
©)

(E)

39.

erebiml @uiws.

Engineering Surveying (B) City Surveying
QumhluQwer rGeauuliim : g #rGaul

Plane Surveying \/d)) Geodetic Surveying
Gererr FrGeuudm ACWrGL1yé srGeuuiin

Answer not known

 eflen Ggflweliidana

Survey in which to collect the details of cyclonic affected

areas, flooded areas.

&#iGeu, Lweme L.II'I'Q&'}BSI;I‘L_H'_I_ @ isetlen C‘égg,rSJasdf, Qmmmgg;nsi)

GuuulL ugdsaler ellugiisamer GeasflssuuBpg.

\/(A) Aerial (B) Marine
' eiflwued ' ’ @ oflesr
(C) Cadastral (D) Astronomical
HLGUL_ T 2eCrrCpmiblésd
(E) Answer not known
eflenL Qsflueidens
490-SURVEYOR AND . 22

DRAUGHTSMAN(CIVIL)



yOluder yenghgiedter LpRsTL EETUSE Serantigener SHerTL Bl

survey deals in unearthing the relics of the past.

&Geu 250 8lmg,.

40.
A)
(©)
(E)
41.

Geological . ﬁ) Archaeological
DCwiressse D TEEHTRLR&5H6
Military (D) Cadastral

18ledl LA SV

Answer not kndwn
cflenL Qgfweildvane

is a town plahning main drawing.

GTeiTIgl (% BETSSlern DygTen euanTULDIELWD.

v®

©)-

(E)

Master plan (B) Topo plan
LOTER LT L6 mehr CurGum tiemmelr
Site plan : (D) Service plan
&L Liemmes gFredey Liemmen

Answer not known
cllent Qaflueicena

42. Vertical and inclined lines are drawn with help of

2 gelilujLen Qeni@&sg) LHHID FMUBS Casrhsar
auemuLILIh&lemen.
\/6&) Set square | " (B) Tec. square
Qevr_ ev@smuir Tec. sv@amur
(C) Scale (D) Protractor
- areyGamed ' - urensLre
(E) Answer not known
cllenL @afweiicoeney
23 490-SURVEYOR AND
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43. pencil used for construction lines, Dimensions lines,
section lines and center lines.

Quendlévsar sl @wrensd Car@aer, uflbrars Gar@ser, Gareys

Carpser whmid ewws CarhasErsEL Lauhidssiuhame. - :

(A) H ) 2H
(C) HB (D) 2B
- (E) Answer not known
eflenL Aghweiicdensy
44. pencils used for shading.

‘ Quenflévger Flpaise LuaTUHSsUILGHDS).
@ H VO B
(C) 2H (D) 2B

.{E) Answer not known
ellenL_ Qgflwelldvenc

45. One width to length ratio of drawing sheet is

auenrSsnaten HswSHDGL BFarsdHhEapertear alldlgibd
VB 1:42 (B) 1:2
© 11 D) 14

(E) Answer not known
e Qgflweldens

490-SURVEYOR AND 24
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46. When only one figure is to be drawn on a sheet it should be drawn in

the of the working space.
aCr gmafler @Gy @®m 2 (Husmg W HGWL euemTL Gmmquﬂgpg,nw Sig

Cauepaw Qaiigibd @)L sdlem auenpwitiLi Geuem(pib.

Vé) Centre
WSS
(C) Right
: cuadled

(E) Answer not known
cflen Qgfweideana

(B) Corner

epaneudled

(D) Left

Qrde

47. The zones along the width of the sheet are designated by

SraTen BIGSHD 2 eTeT DT QkigEET

\/CA) Letters
. S(PSEHEEETMED
(C) Sign
SBENL.LITETLD

(E) Answer not known
afen QgRNwelidana

@DSsLILIHE eTme.

(B) Numerals

GTGEITHETITE

(D) Colours

Hlprisermed

48. After folding the height of drawing sheet should be

\'/Cx) 297 mm
297 1815

(C) 150 mm
150 1818

(E) Answer not known
eflent_ Cgflueidbane

25

iy ss 19DE eumTHD STeTsatien 2 wirb

246 @) @555(8@ T (HID.

(B) 120 mm
120 815

(D) 210 mm
210 5.8

490-SURVEYOR AND
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49. A2 size (594 x 420 mm) Drawing sheet 2nd folding is
A2 serey (594 x 420 HS) oder euepuLgsreflar @ramLreug WLy

- %@LD- . - -
(A) 162 mm |  (B) 172 mm

162 1018 172 8
(C) 182 mm \,(f)) 192 mm

182 A8 192 1815

(E) Answer not known
eflen Qgflweiidens

50. A2 size drawing sheet first folding is

A2 gerey aueruL_ggTaien (g Wi LI <G LD.
\/éx) 210 mm (B) 212 mm
. 210 &S . . 212 AS .
(C) 213 mm (D) 214 mm
213 88 ' 214 A8

(E) Answer not known
cllen Qgflwefdvena

51. The size of the arrowheads should be to the size of the
drawing. _ . , , , : ‘
Sbys @hlseallen oeme; ULt  erellhs Bmss
Geuar(pib.

A) Proportionate (B) Equivalent
elflgramywns ' FODTESNE
(C) Smallest (D) Enlarged

BassPluigrs QuilugrsluL L gna

(E) Answer not known
aflenL Ggflwaildena
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52. Oblique stroke 1s drawn as a short line inclined at

degree.

smips  Gar( gl smieurs @m Gndu Gsrirs
suaTuUUIURS D). )
(A) 360° (B) 270°

(C) 180° Vi) 15°

(E) Answer not known
eflen Qgflweiidane

53. Diagonal scale are used for the measurement to represent

epanadell L SerteyGamed wiemall "~ uweru@Epgl.
" "(A) One unit (B) Two units
R ADS Qramh @@sar
\/(C) Three units (D) Four units
: LGN B Q(GHEET : BTGNS, B GHSEET

(E) Answer not known
eflen Qgflwellicbenay

54. The reduced scale of a drawing is
Q@ uMTUL S HODESILILL j6Ta)

@ 1:1 v 1:2
€ 2:1 - - . D) 5:1

(E) Answer not known
cHen Gsflueiicena
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55. The smallest measurement that can be taken on the main scale 1s

called

Gullelr  evGsadled m@a;asasemmru_n uS]a;.scaﬂﬁu_l Sjeral ([ GTGIT I

SDWPESLLHEDG). . S -
VA MSD (B) SMD

(C) DMS (D) MDS

(E) Answer not known
cflen Qzflwefrene

56. 12 mm diameter round bars weight/m is
12 88 el ib 2 6Ter 2 panar sbiuder eren /B Lit GreiJG{{aTGq?

(A) 0.39 kg/m (B) 0.62 kg/m
0.39 £i6/ B8 i 0.62 &4/ B

\/(C) 0.89 kg/m ) (D) 1.568 kg/m
0.89 &4/ B 1.58 & A N8 i

(E) Answer not known
len Agflwciidena

57. Inreinforced cement concrete, steel bars cranked at an angle of
augigpl L iiul L Qe sradilgd  evwed sblsellar  eumersgedlen
Gamemiib

(A 10~ ' ‘ - (B) 15°

(©) 30° V) 45°

(E) Answer not known
elen Qgflwaldene
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58. Minimum diameter of main bar provided in a beam is
@@ GWld apgarewwner deg Grsrer sbQuiar Gmpbs erey eHllL b
aupmsii. Geuam(pin.

(A) 6 mm (B) 8 mm

6 o8 8 WS
\/(C) 10 mm (D) 12 mm
10 88 12 S8

(E) Answer not known
afleoL Qsflwelidena

- 59, Gréde — 33 cement defining compressive strength in

prisefler 33 &7 HQueamgen appe@LWITET SPSS el

BlenL_Lb.
(A) T7days (B) 14 days
: 7 BriGer ’ 14 mriser
(©) 20 days VD) 28 days
20 prgen 28 pr_sar

(E) Answer not known
- aflen Qgflwciidana
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60. A Two way slab provision of torsion reinforcement must be provided

at the
@meuf everlne Lrisean eugyayl L e S@TIq LILITG GULPMBIGLIL.
- GouaT(Hib. ' -
(A) Left side (B) Right side
gLg ugHuie cuegl LiGSuded
(C) Middle \Ki)) All corners
BH LGS e ' S F epened LGFHulgib

(E) Answer not known
' cllenL Ggflweiloranaw

61. Columns with have lengths less than __ times theit"
respective diameters or slenderness ratio less than 32 are called
short columns

oL  Sersdhe @@peanar  FIKTHET  D@aneusafic
Gl Liser ideg GQuadw gerenn olldlgh 32-6@ @Gopeuns EmBsmd
GODHS 2 WINPETen FIeRTHaT eTen HenpdsiLhElenng

(A) 2 times (B) 4 times
2 wLmiE 4 LG
(C) 6 times - \,6) 8 times
6 L ks 8 i,

(E) Answer not known
eflen Qgfweildema
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62. The minimum depth of a fixed beam should be
RH smswung Sidler GmnhsUL s Sig o

(A) Span/10 (B) Span/20
@ e _Qeuefl/10 @ Qeuafl/20

\Kl) Span/26 (D) Span/30
B _Qeuafl/26 Ben_Qeuall/30

(E) Answer not known
cflent Qaiflwefldena

63. The maximum diameter of the reinforcing bar shall not be exceed
of the total thickness of the slab.
oLl Gb  sbGuiear woiflsules el edverienr Crss  sigwefld
uiadlhE Cod B mrsas gnLng

J®  One eighth (B) One seventh
: g Qb LBG : TP G UG
(C) One fifth (D) One third
BBHD @@ LEE ependled b LkiE

(E) Answer not known
fenL Qzsfweidena

64. Lap in vertical bars of longitudinal bar.
Gemi@sg swlsafer Gal : ___ egver Semonen LM
VB 24xdia (B) 30 x dia
24 X i Lib 30 X efl_Libd
(C) 35xdia - ‘ (D) 40 x dia"
35 X el LLb 40 X L

(E) Answer not known
- eflen QgMwshldvana
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65. Match the following — cover in reinforcement :
Saemaupenn QUNHESS :

(a) Clear cover at the ends of bars 1. 15 mm
sibGuen apigelley Helwii seurt o 15 1818
(b) Clear cover of slabs 2. 50 mm
feorl-ar Sedlwui seui 50 A
(¢) Clear cover of columns 3. 40 mm
grawr AeSlwiir Seui 40 A8
(d) Clear cover for foundation slab 4. 25 mm
and beams
SevdlaunysHed Heoml mmguua 25 815

Sibsefled e sHeulr

(@ @®O @© @

v 4 1 3 2
® 2 3 4 1
© 3 4 1 2
D) 1 3 2 4
(E) Answer not known
eflen Ggflwelldbena
66. Methods of site exploration method is possible to
examine the ground for a maximum depth of 3 meter.
fleon  isdar  aufisalia auflgpapiey  Hosdd
YT T THTRTWR: T g T W S aueny Camgenar QFuiweid
(A) Open excavation ﬁ) Probing
Cangenan @0 ‘ Camedmy. ,0igd
(C) Auger boring (D) Deep boring

girlineetd genarui( <pLpwner gienatull(Higed

(E) Answer not known
alenL Ggflwelidena
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67. method is most commonly adopted to ascertain the
depth at which useful minerals and oil are available.
LUGETeT STgdear whnib aanten fan_Ga&smiqul lpsas 2 NSHUILHSS
war dungeuns gnnsdasrareTiiuGEng.

\,(a\) Electrical resistivity

Neweny senLsHmen
(C) Deep boring

SpLprer genaruilBise

(E) Answer not known
| cflen QzMwelidana

(B) Sub-surface sounding
&p-urdy gpadl

(D) Auger boring
sTuuerg geerui(h

68. Depth of foundation generally determined by the Rankine’s formula-

d=

Qurgieuns Crendeney @GsHrsden Ly ssvdeunysHen syporag d=

- . 2
ﬁ) D l—s?nt?
w|1l+sinf

©) E—l—sinG
wi{l-siné

(E) Answer not known
cllen Ggflueidena

33

(B)

D)

P
w

g |

[1+§in @ |
| 1+sin@

— . _2
1+siné

| 1-siné |
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69. The depth of concrete block below the masonry footing is also
determined by the formula d=
sl.Qwrear sgsardlar ECp st Gemmsfler ysams Siwrallss o gayb

@SSy d=
_5 _6
v d=2T B d=2T
(C) d=(6/5)T" D) d=(T+J)

(E) Answer not known
e Ggflweldeana
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70. Match the follow'ing :
Spsameupenn QUTHSSS :

(a)

()

©

(d)

V)
(B)
©)
(D)

(E)

Failure of foundation
Slevdleungslen Lndliysar
Transpiration of trees

OEISET g yreneilGrayen @auige
Horizontal movement of the earth
yislwer SlenL ol L BaH(HSe

Unequal settlement of the masonry
s(hwrersdler FowHm Hene

Lateral pressure on the
super structure

Gupal Lewiinbd yn pssh

@ ® @© @

2 3 4 1
3 4 2 1
4 2 1 3
1 3 2 4

Answer not known
cflen Qgflwelicrensd

35

Remedies

Sireyser

Provide  sufficient
wide base

Cumgomesr SISO
S g UGS S

Oasrhss Ceuamihd
Foundation should
be sufficiently deep
SjevdleuyLd

Gumgomen  jerellhis
2pipSElD Qeés
Geuar(pib

Construct retaining
walls to prevent the
escape of earth

ybl pameims 50
SR FOUNHET St
Geuar(piLd

Masonry work
should be raised
evenly

s (Hwrer Geuene Srra
2 wggLiuL GeuemHib
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71. are generally use in granular soil when the depth of
hard strata is very great.

Qurgieuns gigaToTe @4@5@5 & égi,lepg,;é,]su @@(r_r,g,rrsu aﬂqrr@m)rr
LDeRTENTe0 LILILI(HESSQTLD

(A) End bearing piles \/63) Friction piles
@nid s Hlasgramaen o rmiey Hleggreraer
(C) Compaction piles (D) Sheet piles
SMbLITES6 BleSETamadT ekl flessneamsdn

(E) Answer not known
allenL Qgilwelldene

72. Precast concreté piles concrete cover of atleast o is

provided.
e ey srandlfl  fasgransellar  srandlfl  seut  @GapHIULED

LarhssuL. Geuas (Hbd

(A) 20 mm (B) 30 mm
20 B8 30 B8
(C) 40 mm \Kf)) 50 mm

40 8IS 50 b

(E) Answer not known
clenL Qgilweicrena
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73. A timber pile 1s made of 1s common Indian tree not

used.
Qeu(p wy Hlagsgrarsd Qeuwin Qurgeurs 2 LGursliuLng @pﬁum
Qeul () wirb
(A) Teak tree (B) Sal tree
Caé@ b FMeh OO
(C) Babool tree \,(6) Banyan tree
LIMEILLED DD S IDIJLD

(E) Answer not known
aflenL Ggflweleena

-74. Choose the correct statements :

sflwren sapenp CosTECEHES

Following are the Disadvantage of the tube steel piles.

Sipsearm_cundliedd evied @i Hosanean-er Semwwrearg.

\/C‘X) Corrosion the steel pile

avedd Blavsgrentlen Gampumb -y

(B) These piles with sand easily the stresses due to driving
Qeuaiams Hlosgiasamer Degsdammed gHuibd sor Homa@u Srid
DG | :

(C) The extra length of these piles can be cut off easily

@gen o Ll Herbd FULTE Qeul g eTHSSLILL D

(D) These piles can be handled roughly without dny serious
damage
@ibs Boggranser abg LrHuyn @derwd Gammuwrs Quésad
(E) Answer not known
dlen Ggpflwelawena
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75. Choose the wrong answer.
seupren udlene Cgitey Qs
- To give enough lateral stability to the structures agalnst various
disturbing horizontal forces
uGaimy @eLwm  deverelsG HevLwlL  sEdsEndE  adins
SL_L el sEnsEdg Cungorer uss el (b Hlawsseaemn Qarhassng
(A) Wind (B) Rain
&THmI LOELp
(C) Earth quake | \/(f)) Sun
Hle ey @ iflwe
(E) Answer not known -
: eflanL GasMwidiidena
76. Find the magnetic declination if the magnetic bearing of the sun at
noon is 354° : .
peaTUsdle @Gflweler arsgs Cufin oyerg 354° we QEmbsTdD, snps sfaa
e L91q EEHe D
(A) 6°S (B) 6°N
©) W | ) 6E
(E) Answer not known
cllen Qgflwaldena
490-SURVEYOR AND 38

DRAUGHTSMAN(CIVIL)



7.

78.

Variations in declination in compass surveying irregular variations
are occurred by magnetic storm such as earth quakes or volcanic
eruptions and their amount may be even at a time.
smbuey #MGeuimdler sflefler wrpurGsaies Frhp wrOUTGES &TbS
Hudsermed graug Hophssd Bioeg oafwee Odeiysms Sgme
Curemmeneuwings Hapdng. Gsar e @ CoysdHea 1R
B (BESHEMD.
\/CA) 1° or 2° (B) 1°or 3°

1° sioerg 2° 1° sowg 3°
(C) 1°or4° , (D) 1°or 5°

1° yoeg 4° 1° yevevgy 5°
(E) Answer not known
: sllenL Gsflueicvensy
A line was drawn an its magnetic bearing 212° on an old map if the

magnetic declination was 4°W, to what béaring should if be set now
if the present declination i1s 10°E

sps sfey 4°W e Q@misCung, srps Cufin 212°%pw Qararh uewpw
Guu Bg em Gsrh eaeguliulLg. spCurmgwu &g sfley 10°E o4e
@mhgred erarar Cufit @UGurg ewésiiuL. Ceuarpim ?

(A) 208> Vb 198
(C) 216° (D) 226°

(E) Answer not known
aflen @gRweilcene
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79. In compass surveying the horizontal angle which the magnetic

meridian makes with the true meridian is known as
smbue FrGarlnded arbgs Qwfliywer e L @LDIﬂI.q.U.I@_II_GGT 2 (IHEUM&HGLD

SenLwoi & Camentid e HwLUBEDS.
\/CA) Magnetic declination (B) Magnetic bearing
arhgé #fley grhgs Guil
(C) Magnetic meridian (D) True bearing
- a&mhg Gwfligwer 2 amanwwinenr Guiflm

(E) Answer not known
ellenL Ggflweildena

80. The following bearings are given in quadrantal systems of lines
AB and AC. Calculate in each case the angle | BAC.

Line AB = N25°30'E

Line AC = S85°30'E

sroal L aepuid, AB wppd AC g du Carpsefler C%Lnﬂrm@a;dr
Qarsasiu_Hiererg. ga@aunainghd Cameamrbd l BAC a&w sausd@.

AB-én Gsnp = N25°30°E

AC-WGér Gsr = S85°30'E

@)  201°00 (B) 180°00
(©) 11100 . - AD) 6900

(E) Answer not known
aflen Qg flwieidency
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81.

In compass surveying if the closing error exceeds permissible limit
the field work 1s

ambueay FiGauulhdld epBn Gy (closnlg error) g c")l@]LDﬁBSESLtUI_l_
cuTbenU il BISEWOTETTE), HeThLINT 2,6e7g)

(A) adjusted \/&3) repeated
&f Qeuwuu@dpg Hpbuegb QenwiuBdps
(C) not adjusted (D) not repeated
&M Qeuwtm@euddene Smbueyd Gewtiupeuddame

(E) Answer not known
aflen QgMweidana
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82. Match the following :
Yereupeuareupenn QUMBSSIS
- (a) Focussing theeyepiece @~ 1, _ Turning the eyepiece
B 1n or out until the cross
hairs are seen sharp
& e eulGw urriLgy flgrev Canir e Barprs
Qsflywb eueny g Sane
2 arGer 2jbagy QeuafiGu
Hma Ceuam(Hibd
(b) Focussing the object piece 2. Focussed to bring the
image in the plane of
the cross hairs
rimsl Sev aunflGu urfiug ] Ayrav Capfen sersHe
' T 2 (heud Ggflybd eueny
seuand GFgSsULIL L g)

(¢) The line of sight should be 3. Collimation test
perpendicular to the horizontal
axis ’ ‘
fenL bl L. 5&EE hGE5sTs CareaitGueager Camganar

umfeney Canrh @méEs CeuamHin
(d) To make the horizontal axis 4. Spire test
perpendicular to the vertical axis
QoG sg Bi5a6HE ConiEssns
Sl bl L iFans Dananh euy Geuarid  avenuwii Cangenen

@ b © @

(A 2 1. 4 3
(B) 3 2 1 4
) 4 2 3 1
vﬁD) 1 2 3 4
(E) Answer not known
cler Agflueiidana
490-SURVEYOR AND 42
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83. ' test to make the line of sight perpendicular to the

horizontal axis.
HenL_i L HFadhE Cehigssns uniame GCarlenl o (Heurés
Cengener GaLiwtiLB(Epg.

v Collimation (B) Spire
&l GLoaw 6 Goen LI
(C) Plate level (D) Vertical arc
GGer Gleeudd Cleurig &&He yiTd

(E) Answer not known
efen Qafweildvana

84. Following any one of temporary adjustment is not required for a new
set up a theodolite before starting the work
uerllenuuyid geud@hd et HCumapL el igem LFw senweilpans Spsaam
e HEmadls ol mevdwer GCsaneuuL g

(A) ~ Centering ' (B) Focussing
TR TWTH] (P F T @edlenLouiib
(C) Levelling up VD) Fitting up
L L UURHSSIS0 GurmSgIS0

(E) Answer not known .
len Ggflweildvena
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85. An imaginary straight line tangential to the longitudinal curve of

altitude level as its centre is-
Bemworer  euanereilenn  enww 2 &fler QamHCsTirs @B sHumenLITE
- CpraCar® cuanmuiLBhéng:. Sig erg 2 L .

(A) Axis of plate level tube
s Hlevaw @Gmudlen oiéa
B Axis of the attitude level tube
o Wy flevew Gmullen oige '
(C) Axis of telescope
Qzreney Crradlulen oi&s

(D). Line of collimation
urireney Gam(

(E) Answer not known
sflenL QgMweidena

86. Theodolite is not used for
HCuGLrenar en_ SpsseirL. QaudpapsdE LwGLbH Sgeuddeaa

(A) Prolonging line (B) Establishing line
Cam_enL BLigbs Gamiaen fifworefliés
ﬁl) Curving line (D) Angle measurements
auanete)s CaEMHsar Seminés Camammtigemer aradiL

(E) Answer not known
ellenL Wgflweiloans
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87.

1s an imaginary line joining the centre of the eye

piece and the optical centre of the object glass.
QgreraCrraduder & dav wHMID SUMEL saTamTgULL  egaflulluicd

DLOWSFHIL 6T @enama@Hd b shuamard GCan — <S4 (SLD.

(A) Line of collimation \Kﬁ) Axis of telescope
urirene Gam(y QL aevGarinden siFs

(C) Horizontal axis (D) Vertical axis
flepLor L oFa : QefIGSE oiFe

(E) Answer not known

- 88. The size of a theodolite is defined by its

cflenL Qgflweficenco

e HOwTGL e 1g 6 2jeTay gped euanqmissEILhiEng.

vi®
®
(©

(D)

(E)

Diameter of the graduate circle of the lower plate
Sereyser @GHlsaEiul L Spstiger efl b

Diameter of the graduate circle of the upper plate
glereyser @Mlastiul L Gueésl igem 6l LD

Size of the inner spindle

2 6T &P BIETGY

Size of the outer spindle

Qeuafiampd stemay

Answer not known
ellenL Qgflueilcvanc
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89. Rule for reduced bearing (RB) if whole circle beaﬁng (WCB) is
between 270° and 360°

Y@ QL Gufies (WCB) 270° LDHJQJLD 360°a;@u) @muﬁﬂm @@pgﬂm

G@D&sLUC L Gufltisren (RB) Gﬁ]ﬁ'ﬁ

(A) RB=WCB
@onssiul L Guflt = wpepeu L Guiin

(B) RB=180°-WCB
Gapssiiut L Guiin = 180° — apupeu L Guiil

(C) RB=WCB- 180°

- epdsuul L Guite = gpepen L Gufle — 180°
V(f)) RB = 360°—- WCB .

Gop&siul L Guili = 360° — awpepeau L Cufim

(E) Answer not known
elen Cgflwualdvana

90. Use (1) plus sign if the given Fore Bearing (FB) is less than 180° and
minus (-} sign if it exceeds

Qampésiu L wperammd Gu (Fore Bearing) 180°-ew &Sl @an,n)eurra{
@misred (1) @hewt (sign) nwearuBiss CeuamHinb, wHIID
<Bewrs Qmpsrd (—) gewd (sign) uESsCaem@ b.

(A) 360° | ' (B) 270°
JO 180° D) 90°

(E) Answer not known
aflerL Ggflwelidvane
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91.

92.

Convert Whole Circle Bearing (WCB) 285°30' to Reduced Bearing
(RB)

QPEpauLL Cuiriy (WCB) 285°30° @w  GepESLILLL (Bulﬂrmasrraa (RB)
LDTHDEYD

J& RB=N 74°30'W (B) RB =N 74°30'E
(C) RB=S 74°30°E (D) RB =S 74°30'W

(E) Answer not known
eflen Qgflweildene

Find. Back Bearing (BB) of the observed Fore Bearing.(FB) of line
AB 63°30’

AB Gamigeé umisstiul L qpererned Guiiiudler (FB) 63°30'65@ G ememed
Gufituens (BB) aerflweyd
(A) 63°30 _ ~(B) 153°30°

A}) 243°30° (D)--333°30°

(E) Answer not known
cflenL Agiflwelcrane
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93. 1s that type of survey in which a number of
connected survey lines from the frame work and the directions and
lengths of the survey line are measured with the help of an angle

- measuring instrument and a tape respectively.

eramugl #iGeuuder g cuams. G s Ly %GUTQJ LG
siGeu Garpsermed o meurssuhidng. @e&Garhsafler Hdane whmbd Beriiaser
Garewr eney spedluden  epaapid  wHmb  GLU  epaqpd  gpanpGu

SerssLUBhiE ng).
(A) Triangulation ' (B) Reciprocal
lg-en <,b1ECergar QrflyGrrésd
\/«3) Traversing (D) Trignometrical

yreufeldlm ] w&Gararrailuieh

(E) Answer not known -
eflen QgMweildene

94. Find Back Bearing (BB) of the observed Fore. Bearing (FB) of.line
AB 203°30’

AB Gamigd umissiiuc L geverméd Guiindlar (FB) 203°30'4@ Garame
Guiruens (BB) sawm_Pweyb

(A) 293°30° (B) 203°30’

(©) 113°30° JD) 23°30

(E) Answer not known
eflen Ggflwaldema
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95.

96.

97.

The direction indicated by a freely suspended and properly balanced
magnetic needle unaffected by local attractive forces 1s called the
sanafldansuns eflLiur L Cemdsd mildeamd urdssuuLnts srhg cad
ST Henswirang) ereucuny Sianps&sinGEng ?
(A) True meridian (B) True bearing
gflwimar Guwifliguier sflurer Camanrid
(C) Magnetic bearings v(f)) Magnetic meridian
arhg Camenid &mhs G fliguwies
(E) Answer not known
ellenL Qgflweildana
In Survery, Fore bearing of a line taken in
grGeuudied, epp Gomiged apearmed Gufim ahssLuGE DS
V(‘X) Forward direction (B) Backward direction
wanGarné@, devsufe enCennseE Hevguiicv
(C) Parallel direction (D) Perpendicular direction
@eemmwuimen Sengufied Qeriusdg Hensudld
(E) Answer not known
allenL Ggflwelldvenaw
The graduations can be made clearly visible by adjusting the prism
to the eye sight by the in prismatic compass.
Gflevomngs Henesmiiguie : _ LweTU(RSSE se  umTencuEsTan
Gfleanw &M Gelicuger ppab Beareysmens safleurasts Lmiss (Wb,
\/d\) Focussing screw (B) Mirror
SUGUTEsadli Sl(m& &ETERTITIg-
(C) Pivot (D) Sun glass
GGeum &l seremTmig

(E) Answer not known
cfilent Qgflweilcene
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98. In the system of graduation in prismatic compass 18
marked at east.
WfevCuwligd smbLedler ojeneyd @gﬁ]uﬁ@ é]gga@u uasa;g,g‘,]a)
- arenm GDESILLE B (hEEWD. o

A) 0° (B) 90°
(© 180° JD) 270°
(E) Answer not known

ailenL Gsflweldama

99. The horizontal angle which a line makes with this meridian is
T doflguaiier  gm  Gar@ a@mna;@m aca]@’)L_LDL.L_ (Sasrrmfrm Greueurrgu

SipssLuhEDng ?

A) Magnetic bearing (B) Magnetic meridian
amhs Camenttd &g Qg wie

(C) True bearing . (D) True -meridian
sflwren GamewTib gilwmesr Qe

(E) Answer not known
eflen @sflweiidenc
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100. It cannot be used without a tripod
WP&ESTES @dembd @ens LWeTURES (Plung
(A) Trough compass
T SlenFasmiig.

\fé) Surveyor’s compass

srGeuwim Slengsmiig

(C) Prismatic compass
Yfleviomg s dlenssmig

(D) Compass and level
HnF&EHT g HOID OLLID UMTSELD &rmed

(E) Answer not known
ellenL Qafuecilcvane

101. There are fundamental types of units used in Auto
CAD. ' ' )
2L CLT Caigd LweTuBSSIUHD ———— UESWITET Blig LI D) GSET
o greres

VAR (B) 4
(C) 6 | - (D) 7

(E) Answer not known
dflenL Qsflweidena
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102. In Auto CAD, the objects drawn with red colof on—screen may .be

printed with 5mm line weight it is called
G Gaed, oy dpssred Hepulledr eueruiiLiHib Qurr@t_asm 5 188

Camiigen eren. Gamawm® 1Aflen. Qediwemd, @Gsevar _ eTenT )
S P&&UUHE DS
VB Pen assignment (B) Plotting origin
e Hemgerblwem’ \Demmi_iq it <=y, fadleh
(C) Assignment : (D) Plot settings
S| Fenl e Qarm’ Q& igm
(E) Answer not known

clilen @gflwaidena

103. A degree to which drawings are proportionally reduced or enlarged
1s termed as
auarULkGT HfgTFsmssler GmpsaiulL Bdag Qulﬂg,na;a;uu@\m S{emey

v
©

(E)

T japsaliuhdng

Plotting scale factor (B) Scale
Diermig i oG SHGuGLIiT avGaed
Plotting scale (D) Drawing layout
Lermiig i evGaEed g ymuie Casia|

Answer not known
cflenL Qgflwuefdens

104. A telﬂplate drawing that has a last location of the cursor is

srgflen sl QL smzs Garam g GLbiGerl cuarss ——— @
(A) Object snap 7 (B) aperture
UGS GBI AT N
(C) Origin point \/6)) Prototype drawing
2, Melgmer umuilar yGym CLmenLt wymudie
(E) Answer not known |

eflen QgMweldans
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105. is a connected sequence of line segrnénts created as a
single object
@@ enap QurEmear 2 @eaurssiu@n Carlhiv ugdsalia @amardasriur
QgL euflens ———— o@D .
(A) Extend (B) Stretch
GTHGVL_GITL vl iT&
(C) Lengthen @) Pline
ClevetrdGlg e : A aneven
(E) Answer not known
| efHen Gsflwefcrane
106. ‘Advantage of using the command is that it allows copy
objects in defined angle and exact number of copies
slLaatenwill UuaTURSGIeUSEH  Betapid  eremenreuenmed,
Qumrearaemar cuspqumssULLL Caragdaid, paosalear caranflsamauiign
paChiss awdsdns) )
(A) move (B) rotate
gLpeu ComGLL
\/(C) array (D) mirror
2iTCry WSl

| (E) Answer not known

cilenL Agflueidwane
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107. Auto CAD allows you to have across to a large number of commands,

a general rule is that use 20% of the command % of
time. _
aarehn s Lwasmar = uCurdlés o Clr CAD — o gy
safadpg, <igen Qurgeurar el % eLb alLaeersar 20%
2 LGwrdlgsriuhidng
(A 50% (B) 75%

VO 80% (D) 100%

(E) Answer not known
sllenL Qgflueiidema

'108. Shorteut key for Draw a circle in Auto CAD
Auto CAD sieag <t G Gaigd el Lib aueru GnéGau &

(4) Cod (B) Chd

VO cu (D) Cu.

(E) Answer not known
sllen @gflueilcency

109. In Auto CAD is like a transparehcy.

UG Cage QeuaflviuenL semenn GUTeDEy.
(A) Dimension (B) Text
© LD QGEH © G gevl
VO Layer (D) Limit
Gaowirr T

(E) Answer not known
flen Qsflueldene
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110.

- 111.

command is used to make a line parallel to an existing

line in Auto CAD

2L G Gaiged cuenpps Camligh@ Geverruns @ Camleame o (Feunss
SLLeerenwl LweTuRSSambd

(A) Fillet \/63) Offset
Yében - TRAANAF: Tl

(C) Break (D) Chamfer
YCr& Gabur

(E) Answer not known
efilenL Qafweildene

command is used to measure -inclined dimension
between two points.
sl Lever @ramp yetalsensE @eCu 2 drerLmdlu smieney

Serefl vweTu R E g

(A) Linear ' (B) Jogged
el STl

(C) Angular \1(6) Aligned
<D, B (&EVIT SB{ENVE(h

(E) Answer not known
eflen g flweildena
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112. By using

particular angle

system, to draw a line a certain distance at a

———— ewuou 2UGUTAULgE (pD, b @'@UIS]I_L Camems sl
@ SOHUECL grsdd e@m CameL aJa){IuJa)rrLo

\/(A) Polar co—ordinates

Cureort Gar <y iig Gar_cv

(C) Absolute co—ordinates
yremwres Gam g Garl_ev

(E) Answer not known

aflenL Qgflwelerens

(B) Relative co—ordinates
Qgrmyerer Gam <yiq Geor_aiv

(D) co—ordinates
Gar =yiiy Gel_aiv

113. Match the foHowing manage drawings in Auto CAD :
Aereumeuareupeann QuUTmESEHE <t CLrGsi g CuGeredim gl :

(a) Ctrl+n
Ctrl+n
(b) Ctrl+S
Ctrl+S
(c) Ctrl+Q
Ctrl+Q
(d) Ctrl+a
Ctrl+a

(@ (b

VO
®) 1
© 2
D) 4

(E) Answer not known
eflen Qgilweildama

490-SURVEYOR AND
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O = W D

1.

(d)

Save drawing

uTLL G5, Coshssd
Select all object
wperwwrg Caireybalige
New drawing

LS euenruLLb

Exit |
QeuefliCumsa
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114. The command in Auto CAD is used to make multiple
copies of objects.

QumpeTaaner LI BEOS&ETTE THULSHE é,ﬂ,l__CSL_rr CAD - W&
sU_Laner au@u.:rraﬂe;asuu@é]mgj

(A) Stretch (B) Mirror
VAT P WSiyiv
V«J) Array (D) Extend
=it @y erde@l el

(E) Answer not known
eflen GgMwalldwens

115. CADD allows to make fine corners of any two lines or arcs, this

technique often cailed
aps  @uemlm Ganhadr deg cumereysefllet  ppesmer 2 (Kaumss

S@wdsdng, @Qbs  pLUd  QuEeburgihd 0 ——————  eTém
DAMPSEILHSMG. . . .
(A) Trimming \/é) Filleting
g flDLSIB solSlbeuL_ig M
(C) Off setting (D) Chamfer
U FL g GaiGlufi

(E) Answer not known
e QgMwciidrena
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116. Ctrl+1 key strokes function defined is
Ctrl+1 eflene vl Grrd Qawdun gear cuemumpitiug
\/A) Object properties window on/off
Qumrmetieh @GemriigeT eflanCLm e/l
(B) Coordinate display on/off
Cangyfig Car’ am fuGSse0 6/l
(C) Polar tracking on/off
Cumeomtr qymdln <6/ L
(D) Object snap tracking on/off
UGG ABTU 19 qradln e/ o,
(E) Answer not known =
cllenL Ggflwefcena

117. Choose the correct answer.
sflwrer udlene Cgirey Galnuab.

Computer Aided Design Package has three components, they are
senflafl 2 g6l augeuanliL BFT@EGIL Apein SamiFeTT@l 26U
(A) Draw, Dimensioning, Text
QUENIHE, UMDTERTLD, 2 el
(B) Draft, babble diagram, single line sketch
cuenre|, LUMYeT euapguLLb, ghHenn eufl cuapyuL b
\XC) Design, Anailysis and visualization
euigeueUIly, UGLUUMLe| whpib Tt fubhsgssed
(D) Design, Analysis and text
QUlgeuenoLlIL], U@GUUTUe whHmib 2 ey

(E) Answer not known
eilen @gflweildvana
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118. Erase, copy, mirror, offset, etc, the above properties are

commands
PSHD, BB, ST, Yooll Ga Curanpeancuser GG o drar LT SET
SLLAETEET(GWD _
VA Modifying (B) Tools
LDITl0 0G0 LI (Bev
(C) Menu bar (D) Dimensioning
Gweggiumi uflwrenT i SeT

(E) Answer not known
dllen. Agflwefldena

119. The : 15 the -computer screen and is used to display
information
——  aetug saflel dor @b whmb [ sscudsmaTs
&M._(HeushH@&L Lweruhemng

\/CA) Monitor ' (B) Key board
el LT & Gumi@)
(C) Printer (D) Mouse
G fegorir @werev

(E) Answer not known
eflenL Qaflweiidene
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120. Computer are used to perform operation at a very high

speed
Bes ofs  CGasgdls —— Gewdumer Gealw  sedefl
vweL@ssiuGdng - - R
(A) Human and electrical vé) Arithmetic and logic

weaflg whpb Bleramy sanflgh HDHID wrgls
(C) Hardware and software (D) Electrical and electronics

cueT@ummer wHmb Quei@unpar e wopmid Wleresrgmiailuicd

(E) Answer not known
ellenL @sflweiicoenay

121. The readings are observed and recorded by the Staff Man from
eThs LTl Guer epeld SiaTesem fHdsuul (B opmbd ufwutinGidng.

(A) Sohd staff (B) Folding staff

- Suwme goma _ 1DIg. &G GLTL
(C) 'Telescopic staff \/6) Target staff

GLowevGamrinis evLm Lmir@asl e

(E) Answer not known
sflan Qgflwueidena

122. A solid staff is usually m long in one piece length.
FLomrar evmi-ar Qurgieurs g glamgen Bemb B QaremLg.
(A 1.00m | " (B) 1.50m
1.00 S 1.50 S
(€) 2.00m | ) 3.00m
2.00 B 3.00 B

(E) Answer not known
sllenL Agilwuaidena
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123. Trigonometric Levelling different points are obtained by ,

wéCamarmailud Geveuadini-er GeusiGaumy umulemiger ppad Gupliu@dpsy.
(A) Linear and Angular Measurement | o
Ferd wHYD Carenr ieTEmeUGEHT

\/é) Vertical Angles, Horizontal Distance
Cleki@sg Camantid, depL bl L grrib

(C) Degree, Minutes
G Hf wHmb sl tisar
(D) Triangle, Equilateral
W&CaETerTd WHMID FOLGS PECHTERTLD

(E) Answer not known
cllen Ggflweaicdrena

124. Name of Self Aligning Level is called
sw Frentiy CGeeud erail @HLGHeug SpssamL abs Gaald &med ?

Vé*) Auto Level (B) Dumpy Level
sreflwniid Geeued LoulDL9 @eveudd
(C) Wye Level (D) Self Level
e Geveued Qe Qeveudd

(E) Answer not known
eflenL Qgflwelldena
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125. In levelling Survey, scale i1s used for plotting the
longitudinal section. '

Qeveueds  siCeauuler, Hemwrar u@g‘,]@nug, aUMTeISM(SE, s Gaed
LweTURSS U Eng. -

(A) 1/100 \lé) 1/1000

(C) 1/1500 (D) 1/10,000

(E) Answer not known
cflenL. Qsflweldvana
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126. Select the correct statement :
sflwrar eunsdluntisener CarbGCs( :

(1)

&)

(3)

(B)

©)

(D)

(E)

Height of Collimation (HC) is calculated for each setting of
Instrument :

smeluden  gauberm  JewUdhEn QarellGager 2w
semsELLuREDG).

HC = RL of BM + Back Sight

sTellGegear 2 wifb = GUEhFTTEe Qeeud + (peTLmiana

Rise and Fall method is used where not accuracy is required
orpsdl  wpmd  ApsH  sewssh  pepudd e gidellwbd
CgencultuLng) . . .

Rise and Fall method is a complete check for all intermediate
er(psfl wHmID pEH penp GTETLS H@TSE Beni[Hlenens (e diE L mes
R Wpenwnar GCargenat o,@Lb.

(1) and (3) 1s true (2) 1s false

(1) wpmib (3) &, (2) seum

(1) and (2) 1s true (3) is false

(1) wpmid (2) &, (3) seum

(2) and (3) 1s true (1) 1s false

(2) whmiw (3) #f, (1) seum

(1), (2) and (3) all are true

(1), (2) DD (3) smansgn E‘fﬂ

Answer not known
eflenL. Qs flwueicdena
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127. It is not possible to setup the Level midway between two points as in
the case of Levelling across a river (or) Lake Levelling 1s
used. ,

@ <m (o) gilder @nsGs Goeadn uareub GCurg @rear®
yereflaensd phHelld Cosume Qe o0 udrear pywng Gurg
Qeveueliiy LweTLhGSLILIHEDE!.

\/(A) Reciprocal Levelling (B) Fly Levelling
QredlLiCrréssd Geveueiin Cienen @eeuedlns
(C) Check Levelling (D) Differential Levelling
- sflumig@d Qeeusdin wrpULr L Geveuedin

(E) Answer not known
] aflen Qgrﬂu_laﬁl'abq)a)

128. Which bench mark is established for short duration such as at the

end of a day’s work?
@@ brefler  @pgeilevs peLQubg wvesfl Cumety ‘Gndw sresddans

o (HEUMESELILL L DIeTEYSSHTEN LiwmflaeT e penLp&ELILHE D).
(A) GTS bench mark (B) Permanent bench mark
&fl.1q .eTe GILERF LOMITS flavaowirar GuErF wmirs
\A)) Temporary bench mark . (D) Arbitrary bench mark
sharedls GLEHE miTs senasisanawiren CLEEE LTS

(E) Answer not known
eflen Qgflweiidana
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129. The difference of level between consecutive points is found by
comparing staff readings Rise indicates (+) and Fall indicates (-). In

this statement which type of method of calculation
Qgrisflwurer yarafaeEnseg @t Cu 2drer eflgduran e figisefier

v®

130.

@dafuy () wpmn gmpe| () Curepaipean UGBS pepuie
semsdLOuhEng).
(A) Height of Collimation method
&TGLDaGET 2 WIf Apenm
Rise and Fall method
gpp wHpd Gués ey
(C) Rise and Collimation method
.gho whmb sradlGwayer e
(D) Fall and Collimation method
@n&sb whmb srelGwaer (penm
(E) Answer not known
cllenL Qgiflueilcane
is also perpendicular to the plumb line.
Qemby Camligh@ QokGssns o drargl.
(A) Level line | v(ﬁ) Horizontal line
Revaws Cam Sen_wi L CarH
(C) Vertical line (D) Datum line
QeriEsgs6 Can G L Garl)
(E) Answer not known ' | '
alenL Ggflweiidena
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131. What are the main peculiarity of Tilting Level?
Belien (FmbLb) Geeued smeiluier safllssareauwuimarg

®
(B)

©)

VO

(E)

132.

The Line of colimation is perfect |
e Ut sredlGaper yang FHwmer Lig @l (mé@b

The Axis of Telescope is Line joining object glass
QLecuGarultier igs eranug Cr&@ED semartmiyew 17SlLeilsEb
The bubble line is an imaginary line

@ilp GCar® Yerg e spuamaunar Garh LD

The vertical axis need not perpendicular to it

Llser Qhi@sHs 2iFs Wppeugib HemiGss us @meEs Coameiuideana
Answer not known
alen Qgflweldena .

purpose of using Self Reading Levelling Staff.

Qe Mek (sWILTE SjeTey UTigS5E) GoLml arghHE vwerefl&dmg) ?

A)

VB

(€)

Precise Levelling
Hovedtwioms Geeud Qe

Readings are observed directly by an observer through the

Telescope
QLeaCsm eufurs umisgh Curg emeurrd figmeas GCprgwns
LiciTeRT oJGleumeng|

Known of midway between the point
@enriyeraflulien gryhiGemer srem

(D) Reading by Inverted only
sene Sprs L LUSHE
(E) Answer not known
elen Ggflwaidena
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133. Now a days which levelling staff 1s mosﬂy used for levelling survey?
Qésragdle Cecddn giGa Qeueghe SpssarL ehs vl fabd
UWI6UM g 60 2 @Terg) ?

134.

135.

(A)

(©)

(B

The thickness of each division is

-Folding Staff

WLy SGW eUens 6L

Solid Staff

Q&g wimer gL ms

Answer not known

cllenL. @zflweddens

ﬁ) Telescopic Staff

QLeevCamds evLm

(D) Invar Staff

@éeumit e

mm in Levelling Staff.

Qeeuaiin evLrsli- geauleunm GNfefian sigoer B Qaransing
B(m&@L.
(A) 10 mm (B) 8 mm
10 B8 _ 8 18.8
(C) 6mm \16) 5 mm
6 8.8 5 0.8
(E) Answer not known

A bubble tube 1n
G —

eflenL GgMweaidena

2 GTETg eTen S(HSHILemd.

(A)

(C)

(E)

Left

@rg ypw
Right

aueg Upssle

Answer not known

 eflen. Qglweildwena

place is bubble in Horizontal Line.
LGHD QmbsTed Hrer dHepL 1ol L1ons &(hel

vé) Middle

Wl yeretudlen

(D) Any Place
ahs LGS uGab
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136. To determine the volume of earth work because of Road, Railway,
Irrigation project which survey is carried out
Bluld Gup@arararuu@n wenr Gauemaselldr siameasamer Siwnaliss (s,

@iy urens, Sroursend)  Gurern Sl LetlsEhas, FiGeu -
GCuhQardreriiuBEng.
(A) Drone (B) Chain
L Grme Qeul e
(C) Contouring \/6)) Levelling
e (i Qeveuadin

(E) Answer not known
cflenL Ggiflweicraney

137. Procedure of Temporary Adjustments used in leveling survey is
Qaveuelim #rGander LwETLRSSLILEDL SHeTlE L6l DTS 1P
(A) Levelling, Eye Vane, Object Vane )

swaTURSHIS®D, sar culfl, dummeller el Lnisse
(B) Adjust Foot Screw, Centering, Orientation
S v FoaTLhissso, dLWLHSHSD, CHrEE Hlene
vé) Fixing the instrument on stand, Levelling, Focussing
. sriududd . 2 usramgans CumBpsgisd, ewwLUuBSss®, Cursedin
Qsniged
(D) Handling, Fixing, Adjustment
MHWUMEESHD, Hlmeyse, Fil Ceuged

(E) Answer not known
cllenL Ggflueicdena
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138. Select the correct statement :
Qeneupeuateupdler sfluner sursflugeans GarpGsh :

(@

(11)

(iii)

- (A
©)

(E)

Hand signals during observation must for located in busy,

‘noisy areas, man to give instructions vocal sounds places.

ugugliurer, @ersed sifsb o ugdHsald wmy pavaruie o drer
wallsanse sPleyangaet Gred @6l epeald Cerda apywns, g Cumern
PlavewaEnda@ s suilsames seuailssuL. Geum@ib.

Hand signals observation is in direct ranging places, hide
point places, Lake, Pond surface places used.

wepwas Cresdny, Qaflurg yarelisdr @& LD, LHMD GeTb,
gfl uriysetidv stGa Deliu e FllGmEH LWEIETETENS Bl (HeE .
Hand signal are found to be useful for levelling: work for man
holding the staff at the other end through the vocal sounds.
@I @eladr epewd M wpevaruie Gesdin Aeiub uallésrs e
aeug Sl priLieuma@ wafllgas@ s Flléaneh LWEIETaTESTa @) (Hé@L0.

(i1) and (iii) are true ’ ﬁ) (1) and (ii1) are true

(i) wHmid (1i1) i (1) wpow (111) &M

(i), (1) and (1i1) true (D) (i) and (i11) false (i1) is true
(1), (i) wHmwb (111) & D), (1ii1) seum wHmid (1) &f

Answer not known
ellenL Qgflweildencw
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139. Principle of Levelling is
Qaveuelitudler §5geuD eremug)

(A) A Angle of measurement

Canamriisofer oeTefanar ETERTLIG)

\/é) A Horizontal Line of sight

urireneuufier gqp deol L Ganrlan Qupeis

(C) A Linear and Angular measurement
fenLol L whmb Caremisaiien sjeteney Qumieug)
(D) A upward and Downward Line
CuCa wpmib EC 2 drer CamhHiamar sraRTLIg

(E) Answer not known
e Ggflwaidena

140. Choose the wrong statement of the Holding the staff
evLmueu 199550 — BEld seuprer snphan SIS
(A) Hold the staff in a vertical position
avLrieu Qem@ssts g s5s Ganar® G mes Goudm@pHib
(B) The staff man stands behind the staff
ety Guoew evLmiyde, Wearmed @) h&Es GCeuamHibd

(C) Holds it between the palm of his hands at the height of his face
uLmuenu @rew( e dteThmas@hsE @eLutd wasdhe Cwors
@m&s Geuarr(hid
‘ \/6)) If it is vertical, the reading will be too great
oLl Qerigsste Ngssmd Siaeyser iflswons sl Gib

(E) Answer not known
efan GlgMweddame
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141. The maximum height of the building shall not exceed
times width of the street.

sl glen oiflaul s 2 Wb, Ggmellen Hswddean LDL_MBI(& (S
G @)(méssmL Mg _
(A) 05 | (B) 1.0

vO 15 D) 2.0

(E) Answer not known
ailenL Qgflwefldane

142. If the floor area at ground level of a building is 60 sq.m. Find the
built up area . . .

QM slglsdar ser wlLsdHear uguuaey 60 &8 aewrd s&CEwrar
urlueTeney seahililig &seayb.

(A) 42 sq.m (B) 48 sq.m
. 42 5.8 . . _ 48 5.8
\A) 72 sq.m ' (D) 78 sq.m
72 .8 78 &8

(E) Answer not known
cflenL GQgNweildene
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143. For framed multi storied building, the area occupied by the wall is

of plinth area.

SLL@LGSIUL L L Wy &gl S6bhE, sl adydisgerer ugdumeang,

Hefleirg Lipriviemelley.

v®
(©)

(E)

5% to 10%
5% apsd 10%

15% to 20%
156% apger 20%

Answer not known
aflenL Gzflwaildensy

144. Match the following :

Gemeugheuanapanp QUIHESISE :

(a)
()

(c)
(d)

v
(B)
(©)
(D)

Area of Plot

emrig e uFdiLeTey
More than 1000 sq.m
1000 #1586 Cwed

501 sq.m to 1000 sq.m
501 #.8 @pse 1000 &.8

201 sq.m to 500 sq.m
201 #.06 gpser 500 &.18
Upto 200 sq.m

201 5.8 eueny

@ b © @

4 3 2 1
3 2 1 4
1 2 3 4
2 3 4 1

(E) Answer not known

ellenL Ggflweldwenc

490-SURVEYOR AND
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LS. -
(B) 10% to 15%
10% wsa 156%
(D) 20% to 25%
20% gz 25%

Permissible covered area
Siendlssiur L epL ot e ugd

1. 60% of site area
wevarurrinereiier 60%

2.  50% of site area
weveruyriuereféy 50%

3. 40% of site area
wevarurriuerefies 40%

4. 33% of site area
weparurtiLeTefd 33%
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145.

146.

147,

For any habitable room, window area should be a minimum
of floor area.
g euflEssanlqll  SODEGL, memareder UFUUTe  SenFriugliuerelled

GMDHS UL FLD B (&8 Couam(Hib.
A) % v63) 10%
C) 15% (D) 20%

(E) Answer not known
fen Gsfluiefcvancy

Desirable breadth to length ratio of a room is
@@ Sopldar mbussss dssHDEnL BasdHbEh et Nfsb -

G- |
(A) 1:0.50t01:0.90 \/63) 1:1.20to1:1.50

() 1:1.50t01:2.00 D) 1:2.00to01:2.50

(E) Answer not known
eflen Qgilwuafdene

4
Plan of a building is the and arranging of its component
parts in a systematic manner. .
@ SLigL g SLLIOOSH Tarug DT sam UTHRG®ET @@ 6(pEIGTer

wpapuller euflewsiuhsS QalieugmGLb.
(A) Seeking ) Grouping
: Cabhga | : : & EHLILSIE
(C) Dispersing (D) Spiliting

Sgmse Spgise

(E) Answer not known
eflen Qafweiidena
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148. 1 Ground = |

1 wenar eetug)

(A) 2200 sq.ft. | VB 2400 sq.ft.
2200 FGHIT g 2400 g7 =19

(C) 2500 sq.ft. (D) 2600 sq.ft.
2500 sg17 oi1g 2600 sgi7 =i

(E) Answer not known
eflen Qgtlweldrena

-149. Maximum - perm1551ble covered area 1f area of plot 501 sqm to

- 1000 sq.m 18~ : _
9501 egzr BSicdeo @upbgs 1000 sgr Siod uriueatey @@mbsTd,
SHsULFLNS J@DESSILHD ppigw LGS

(A) 20.5% of the site area (B) 33.5% of the site area
enal ugliuetefler 20.5% anal_ uriuerailey 33.5%

(C)  50% of the site area VD) 40% of the site area
engl_ ugliuerede 50% sl ugliuetedd 40%

(E) Answer not known
ellen_ Qgflweilcene

150. ‘ _1s a plan to draw a scale of not less than 1:10,000
Qermen 1: 10, 000 GTUGSSQMS@ GEnDWTLDED mmumuu@eﬂmgj.
\/(A) Key plan (B) Site plan
£l|_cﬂmrrdrr el Germer
(C) Master plan (D) Building plan
WwrevL T (Sermesr syl Qarmes

(E) Answer not known
ellenL Qg flwaeldrana
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151. Only when harsh conditions, distances are short the will
be used in total station.
Cumired awGLegaflld sgerorer @GpBleraulldr wLHD, D GdDeUns
- @ImEED Curg ' LweTURHSSILHID.

(A)

Plane table and Alidade
9Ceresr CL96m HmD HeNCLL

(B) Surveyor’s compass
FrGauwire SmbLey
\/(3) Transit and tape
C wymemedll whmib G
(D) Dumpy level and levelling staff
L9 Qeeudd whHmid Gavsuedin doLm
(E) Answer not known
aflenL GQgflweildenc
152. Total stations are ideal for collecting points.
G dvCLager yeteflazener Caaflés ehps.
(A) least number of V(é) large number of
GODhsUL S cTeimentlSansuilemen 2ifa cramantlsansullomer
(C) small number of - (D) medium number of
APlwr eretrentlEenaulileomer BEhssr aanafléansuleomer
Answer not known

(E)

aflen @z flweildens
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153. Total station contain that can detect small deviation of

the instrument from vertical.
Cumiie evCLagpen Qarer(pererg, @g G]&rm@_r)gg,rras @@g_ﬁgj
smeSlllen APlw eflovamas samLBiu wpguyb. ,

v
(©)

(E)

Vertical compensator (B) Horizontal compensator
Qem@ss smbQuetCsl L e ol L. srOQuenGear i
Operational key (D) Toggle key

Y UCrageare & ' Lrsdlé &

Answer not known
sflen Qsfwefdame

154. Choose the wrong answer
sauprar ufleaner CsibCs6H s.

Following are the excellent hardware features of Total station.

Gl evGLagyaller Anpg euet@uUIHET Sibshisar Wememwry.

(A) Laser plummet
Caer Nerb@ior
(B) Endless drives
PReUDD g epTeLSET
\/«3) Antenna
2, erllLerm
(D) Optics with 30 x magnification
30 eraeh &@UQU@&S&LD QasmeiorL_ @Gfﬂufﬂu_lsu
(E) Answer not known
alleni @g,rﬂmaﬁ]d)m@
490-SURVEYOR AND 76
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155. Choose the wrong answer
seupner uglene CsibAsHs.
In total station, it is possible to set required units for

Cumire evGragaid ‘ &@ Comelurar DO@GEMmeT Mnss
PRULD.
(A) Distance (B) Temperature
SIMD Qeuniublenew
(C) Pressure : V(s) Time
SI(PESLD _ G

(E) Answer not known
cllenL QAgflweildane

156. Total station permits observing from a single setup.
Cumie ovCLegermr em sewiAad(mHHg sanaTanilEs
SIS EE D).

(A) Distances and levelling (B) Directions and levelling
SNTEEET WHDID Ceveuedns Hevssdr wHmibd Ceveuedin

(C) Levelling and angles v(s) Distances and directions
Qaveueiity whmid CarerTrisar SMIE&ET LHHID Seossar

(E) Answer not known
clen Qg flwaiidena
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157. Match the following :
Heneumeaneupend QUTmSSs
Following are some methods of recording data electronically.

Weengm  wepwie efeurnsmer udey Csleugharer S Q,omﬁjaseh
1Yemeu(mom).
(a) Data recorders 1. memory cards
G QpssriLiser Hlenaiais i enL_ser
(b) Field computers 2. electronic field books
SUIDE sanfllaflsar TS TTaNE ool 1 ()
USSHSHmIGET
(¢) Recording modules 3. no need of memory card/
‘ data recorders
- Ar&asmingns wr@Edev Qwwf arrRser/GLiim
dysami_iser Casamauulaeme
(d) Internal memories 4. hand-held computers

o &1 Qwiwfser

@slld amasdmeEh

santlaflaar
@ ® @© @@
A 4 1 3 2
vB) 2 4 1 3
(C) 3 2 4 1
D) 1 3 2 4

(E) Answer not known
eflen Qgflwelldvena

490-SURVEYOR AND
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158. When the user first sets up the total station the choice of the zero
direction is made is
vweri apgedldd Cumiié evGLayener DD ESGLD Cungl, s ;ﬂsm&uﬁ]ma'r

Garey Qewwtiu®eugy Y GD.
\(:) Instrument North (B) Instrument South
a(mefl UL &, smell Qsh
(C) Instrument West (D) Instrument East
asmetl Cuone &mell fipsE

(E) Answer not known
clleni_ WgMwelldane

159. Most modern total station instruments measure angles by means of

scanning. '
- Quepbumerean peier GLTl L cvCLagem smellsen evGaafln
epald Camamriugenar o erail(hdlenment.
\/(X) Electro-optical ' (B) 3D laser
&L Crm-g,tig &6 3y Geogir
(C) Horizon (D) Mechanical
e milggmetr @wupHrellwc

(E) Answer not known
cllenL Qzfuieicrene

79 490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)
[Turn over



160. The accuracies of measurements with the expensive total station can

run about
16l gdluwrer efleauuibs Cumiid evGLagpeflier amcﬁ@amﬂm gjsuaﬂu_im
W HCW FOWT ————— ullh @uikiEib.
(A) 5 mm/10 ppm (B) 3 mm/6 ppm
5 8.8/10 9Qerid 3 19.5/6 QQerd
(C) 2 mm/4 ppm v(ﬁ) 1 mm/1 ppm
2 B.158/4 QQerid 1.8.8/1 996

(E) Answer not known
clen Qgfluefdane

161. In earhlpy days, | classes of Total stations wéi'e available.

STOL BTl &afle, eaumswiianr GLrit @ svCLeagenser den &L
Qupmereres.
(A) -one . (B) two
ST Qe
VO three (D) four
ety Breu

(E) Answer not known
eflenL QgRweildeana
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162. Choose the correct answer:

gflurer udlewa CaTEAFHES :

Following are the disadvantages of Total Station
G evGLagaiian Sanwadr Aeeumwmn

(1)

(i1)

(iii)

(iv)

©)

(E)

Total Station should not be used for observations of the sun
unless special filters are used

ApUy eugliurengeT LweTUhiGSILLTell L), @flwuenens sarmamentss
G e evGLoagenat LwTURSSESFLTE)

Using Total Station does not provide hard copies of field notes.
Gurt e evGLegemer LwaTLBSHUG Bl GollLsaia eust BsbEaner
QarhLiugédena

Integration of database exporting map to- GIS packages

Guier Guevdler Qem flGrager - - ghl.m.erev PEmEUUSERES

Cuuyseer gpmind Celdng

Coding to do automated mapping
grenmg @uirkigb Guinlne Camig

(1) and (ii) are correct (B) (i1) and (111) are correct
(1) whmb (1) eflwrerenel (11) wHmb (111) sNwrereney
(1i1) and (iv) are correct (D) (1) and (iv) are correct
(1) wpmd (v) sfwreareney (1) womb (1v) sflwraraey

Answer not known
aflenL Qgflweildana
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163. Fundamental measurements in Total station the distance between

the instrument and the target is
CGuriie ouGlegem @gliuemwre el h  aparpuiledr  sErelis@D,

Qa&@sEn @ wteorar b eTar e pSELILIHEDg. -
(A) Horizontal Angle (B) Vertical angle
Sl Camemrid Qem@sg Camentid
(C) Line of sight \/(6) Slope distance
- unieneus Gar( smiey b

(E) Answer not known
e Qgiflwueldrena

164. For phase shift system, a typical sﬁeéificatioln of measurement time

18 to a single prism.
Cuev afllil. sewiiyse epop Liflevsdear sareii( CorsHer Qungeunan
efleugd@m Ly
A 12s | (B) 2-4s
1-26f) ) 2-468
(C) 3-6s (D) 4-8s
3-66f) 4-8afl
(E) Answer not known
eflen Agflwueidana
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165. Match the following :

\Netreu(heuareuhenms QUmBsss :
(a) EDM settings
@).1q.erd. Qo g

(b) Communication

sy el sCsapen

(¢) Atmospheric parameters

cueflamLgdler umyrbL L rser

(d) Unit setting

wefll G&L ig i

@ b © @@
(A 4 2 3 1
(B) 2 1 4 3
vO 3 4 1 2
D) 1 3 2 4

(E) Answer not known
ellenL Qg flueierena

83

get ppm for the diagram from
the manual of the equipment
o Lsremhseten aaGuL g eilHbg
euenTLILdHldHaman Wlberd-enwrLy
Qumige

distance in meters,
temperature in °C and
pressure in hPa.

giptigar S isefld Qevuubleane
wpgd  agssd  °C wpmid
Siwssb hPa-& Qmsse

select IR laser, fire measuring
mode, use R.L. with caution
B.9r.Cosery  Gsiey Qauigd,
Hiawmanflu SierellHib oD,
aiefid&emns o Ler oi.ered.-uienen
2 LGWdlgsd

set all parameters the same
for a total station and data
logger

eror  urgrSlLisemearud Gy

wrfflure  Gumiid evGLagen
LoHmILDd S&H6UD WTESHTEHS
BINDGHHE
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166. Setup of a Total Station, open the legs of the tripod to set the tripod
head at the level of the operators

Gumiid evBLegen iemwssdled, @ud@ueutlen LGSl
LT I 6T £ @(HEGLMID STOHMETS Snsse].
(A) eye (B) neck
& S5
(C) shoulder \/(6) upper chest
CgneruLlenL ' Godomiy

(E) Answer not known
eflen Qgflweiicoena

167 Following equipments ‘are not in the Data Processing in Total |

Station
Geeu@md The 2 usfemmser GLmid uGLaye s 1Ggrevevesib-6
@evana ?
(A) Laptop computer with serial port
Fllwew Gurri 2 L e wig Ssanflaf

\Aﬁ) Extra batteries

Ifstugurer GuiLMser

(C) Terminal Application
Qumbleréd Qrlwmsd

(D) Application programme
lS]l;r(Bu.lrra%]é;@Lb yGrmrélgmrd

(E) Answer not known
eflenL Qgflweildane
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- 168. Following equipments are not in the prism set in Total Station
Wemeuqpib 2 UsremmiseT GLm_Led svGLapem Wilevd Ggm@udd @dame

@)
(1)
(i)
(iv)
@)

VO

(E)

Tribrach
gepFlgrE

Prism
Gflenid

Tripod
lgengrLImc

Centering rod
Qear_fr &b
() and (ii)

(1) opmio (11)
(1) and (111)

) wpps (i)

Answer not known
cfleni_ Wagflwaildene

85

(B) (i) and (iv)
(ii) womb (v)

(D) (i) and (iii)
(i) wogw (1)
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168. Match the following :
Getreupeuaneupanml Qunbsss

Equipments are to be need for Total Station surveying
GLmLé caCLayen #iCeisE Caemeuwiner o LIGTammhigeT

(a) Total Station set 1.

CLm’Lé evCLaner QL

(b) Prism set 2.

Gflend Qe

(¢) Data Processing 3.

S&eud Wrmevevedin

(d) .Survey tools . 4.

#Geu s(mellger -

@ G © «
vdb 3 1 4
® 1 3 -2
© 4 2 1
D 2 4 3

(E) Answer not known
eflen Qg Mweicdrane

= W ok N

Prism holder
Gfleud g Oumes
Field notes
Solieb(® Crmlev
Tripod

g ER LI

Laptop computer with USB port

wp-erev. 9. Gunil a6 wssenflafl -

170. Find the sum of the interior angles of a Closed polygon trasverse

that has 12 sides?

12" ussnsamars Qaraml apyeydn LoGsmear L greuitedlear o " Canewrrigaticsn

@l (hs dgrengamws seirLHuieylb
(A) 980°

w© 1800°

(E) Answer not known
cflenL Qsflwueicvanen

490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)
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(D) 1980°
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171. Sequenée the aim of EDM instrument operation
@).1q.e110. H@Hell Qewcoum’ger Cpréssans euflensliL(Rsse]b

@
(ii)

(111)

(iv)

@)
©

(E)

When the cross hair is sight on target, the electronic signal
will be maximized at the centre of the prism

Agrev Canm @ewsdld Guuas@w Gurg, Wealarasy #Haard Ufaugder
awwsdd sHefssupb

The EDM is aimed at the prism by using either the built in
sighting devices on to EDM

@.q.6Tb.-6  o@TeT 2 ETETEALESIULL  UTTEel  FMGSThSeneTL
LusTuRSHeuge ppobd @.q. 6. Uflevsas GHsGCarams o drerg)

Set the electronic signal precisely on the prism centre
Berengm feearene gidadlnrs Lfleusdler ewvwsde imwésa)b

Telescope will have the optical line of sight a bit lower than
the electronic signal.

Qsrere Cprédlurang, Oeerany HAserene L sHm  Gepeure
urfeneud GCam_enL Garamig (ma@lb.

@), (iii), (iv) and (ii) v(ﬁ) (ii), (iv), (i) and (i)
@), (i), (iv) wpmw (i) (ii), (), () wHm (ii)
(iv), (@), (iii) and (ii) (D) (id), (ii), (iv) and (i)
(iv), @), (i) Lo (i) (i), (i), (v) wppid @)

Answer not known
eflenL. Gzflusidana
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172. In Total Station survey, distances are booked simply as

Cumiie evCLager sTGeauuldley gromaer FTEMTERTLOTS <8 udlay
Qeliwtiul_{éreng.
(A)  chainages _ ' \/(ﬁ) dimensions
Qeulenergyeiv an L0l oaTasg erein
(C) lines (D) stations
Canhser VGL QpeigeT

(E) Answer not known
alenL Ggflweldena
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173. Sequence the procedure for data collection after setting the
co-ordinates in total station are following
Cumire ewlLegaflied grudaariuysmer @mwss Ung oleugriger
Ceafuysarar dawdgperper euflesliLBgseyLb.

@

(i)

(111)

(iv)

(V)

(A)

V&

(E)

Set back sight name and reflector height and observe the
co-ordinate of it and record the data

Gewumieneuuden GQuwir whHGbd GgHudluume 2 LTEMSG DMDESED
LHHID S phflamaniemus sauallsg dleursast udley CFuweb.
For detailing, set detail point name and reflector height and
record the data of different location '

efleufltiugh@ efleurt yereflullen Guwim wphmpid Wrdlueliume 2 wrens

‘Smwsseyd  wHmb  dewwGem g risefler  afleursenst  udley

Qelweylb.
Measure the foresight station and record the data
enurieney evCLagemenr emhgl, clleurdenst udley Guwiwab.

Give name for foresight station and set reflector height
(LpeTuTiTenay du@t.as,;é&ﬂ;b@ Guu_la)ljés "Gasrr®ésesa.|l.b WwHmIDH
Qrdludiiumer 2 wIfens Sen&EEajlb.

Power off the instrument

smellen enarT&ae, D

(i11), (@), (iv), (i1) and (v) (B) (iv), (i1), (1), (111) and (v)

(ii1), (1), (iv), (1) womd (V) (iv), (i), (@), (ii1) wpgid (v)
@), (@v), (i), () and (v} - (D) (), (i), @), (iv) and (v)
(1), (), (111), (i) womd (V) (i), (i1), (@), (V) wpgw (V)

Answer not known
cllen Ggflweilcvenay
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174. take the form of plug-in cards onto which data is
magnetically encoded by a total station.

Yens-@er  sri(aeflen  cugeusns eaHsGL  GumliLe

uGLegama aileurd srbsors GHlurésd Aeuutiudnsg. :

(A) Field computer \A%) Recording modules
LS EH saflafaar Qr&sming il TEe6

(C) Pocket calculator (D) Field books
ur&lsl srégGar Liger SUNOH Yssshiger

(E) Answer not known
eflenL Qgflweflevaney

'175. In Rapid measurement, measurement time to a prism is between

cilengourerr emeiliged, e Uflevlenr emeliGi  Gprb &3
@enL i @mE@h.
V@ 05and s . (B) I'sand2s
0.5 wpmw 1’s I's wpmbd 2’s
(C) 2sand3’s (D) 3's and 4’s
2’s wpmid 3's 3’s wHmib 4's

(E) Answer not known
QS]@DL_ Qg Mweileens
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176. During chaining sometimes rivers, ponds, builders, hills, thick
jungle may prevent the chainman to take the measurements directly
1s called
Qeflaflin CewwwCurg, o Cprisefld, misd, @Geusd, &gl kgHT,
LOMREET, SILHS sTHseT Geeublwcemd Gauller puay Coygwins: SieTe &6

ahi&s eflLmod sRULS T BB PESILHSI DS
(A) observation vé) obstacles
seuailiy HDL_GET
(C) resection (D) offsetting
o F&ageh - e IGE g M

(E) Answer not known
- eflenL Gsflweldrena
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177. Name of the figure is

A
®)
©
®)

(E)

Ranging Across a Hill -
e weanaulern @m&Gs Cramgln Galigea

Ranging Across a Valley

QR UaTaTE5TES GNsGs Cramin Galiged
Ranging Across a Hip

e afli-er Gn&Ga GCreamsin GFliseo
Ranging Across a Cable

e Casller em&Gs Creamedin Galige
Answer not known

eflenL Qsflwueicoena -

490-SURVEYOR AND 92
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178. The stations other than main stations are called as

Quuder WGy  BDONS LHD VG e e
TemmenLpSSLILIHE D).

(A) totally station (B) Sub station
CumLel evGLagen eols euGL g6
V@) tie station (D) Subsidiary station
oL dvCLager eovienlfl evCLagper

179.

(E) Answer not known
efer Qsflueiidena

A-line joining some fixed points on-any two lines in- a main survey -
line is known as _
Quuller #1Ceu eneafledy glsand @reawh Car@aaflar Gua @ p&EGD He

Rlaraowiner Laretlsaner @lanarts@n Cam( eTempenlp&sLILIHE D).
(A) Dbase line (B) check line

Guev enever ' Q&é enave
(C) running survey line v(ﬁ) tie line

renentiny si(eu eneueh GNL eREVENT

(E) Answer not known
eflenL QgMweidvena
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180. A series of connected survey lines of known lengths and directions is

called as
Qaiibs Bermset wHHD Hassear oL Gaanssiul L siGe aeensafler
Qs =eng TeHEP&ESLLIHSMG!.
(A) check line (B) base line
Qg emeven Guev enauel
(C) triangulation ﬁ) traverse
C ey @ Geoager Lpmeufre

(E) Answer not known
cflen Qzflwelwrens

181. —  consists of a hollow octagonal box.
g @ Qaupm eramCGaman QUi gerws Caramharersg).
A) French cross staff (B) Open cross staff
NQApEs& Smev evLm Gugh Slyrev e
(C) Optical square (D) Site square
S Ug S50 avblgmr el ev@smuir

(E) Answer not known
eflen Gsflwefcrana

182, — is a modern and precise instrument and is used in a
similar manner.

: @@ beler wHpbd godwwrer smel LHNL &S papuie

vweru@GSSILREDF.

(A) Site square \Kg) Prism square
engl_ adv@amuir , Gllew avQsmuir

(C) Optical square (D) French square
Sl &&e evlsmun WArErs cv@amur

(E) Answer not known
aflen Gsflweldena
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183. Calculate the given Triangular plot area

Qar@Rssiin {Herer up&Gamast weanudar LTl Sasd (His.

C
g
=)
D
o~
Lo
.
A 45 m B
(A) 390.75 sgqm {(B) 393.25 sqm
390.75 sgim8 393.25 sgm8
- SO, 393.75 sqm (D) 395.75 sqm
393.75 sgymd 395.75 ez
(E) Answer not known
aflenL @gflweldena
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184. Calculate the given triangular plot area
Qarpésiiuc L wp&Camant Wenml LFLILIGTEMG &emTddl () kiger

A 20m B
2 ‘ [
g
w
o
C
(A) 380 sgm vé) 360 sqm
380 g8 _ 360 sg7.8
(C) 340 sgm (D) 350 sgm
340 sgmb 350 gy
(E) Answer not known
allenL Cgfweildwena
185. In chain survey, —— are taken to the boundary points in the

order of their chainages on both the sides of the base line.
Qaudten #TGeuufdd, Cuev aavaficsr Graih Lsshsafiar Waieter QauilCarmader

aflewss Hrnsdd et yarella@psE ————— aRsslubh & pg.
Vv  Offsets (B) Fields
ETANAY: Tall= ) : SETIEISET
(C) Areas (D) Readings
UTOLGTE &HET fig g sar

{E) Answer not known
e Csflueidana
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186. Match the following in plane table surveying :
WGarer CLbler rleuuiler Aemeumeuamsuhenpls HummsgIs

(a) Instrumental error

s(metlufler enyp

(b) Errors of manipulation 2.

and sighting

MEWTEHSE LOHMILD
umudlé Genrp

(¢) Errors of plotting
Gl Qs Gung
ghu@b Yepser

(d) Mechanical method

Qussrafléasd awep

(@ @ (©
A 1 9 3
/B 4 3 1
(C) 3 4 2
D) 2 1 4

(E) Answer not known

ellenL Qgiflwelidvenay

(d)

o DD W

By taking care in drawing and in
the use of scales '

QUGN THED O HmILD B ETEY HEIT
vweaTLhSgeudled SEUETLD
Qegusgieugen epebd

Tracing paper method

g Créis Guiinir apenm

The objects not being correctly

" sighted

LGRS L FRlwns LNiT&HSTOE
Sooug

The edge of the alidade not being
a straight line ‘
20CLg e aflefliby CriGarLns
@b @mLiLg

490-SURVEYOR AND
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187. The working edge of the alidade is called

NG e Geurrsdlm edlaflbureng

A Fiducial edge
‘ o L9RAure eflafliby

(C) Common edge
Qurg elefliby

(E) Answer not known
eflenL GQaMweildana

. 188. Match the_following :

- Ylereugmueuanel Henm @urr@g,@&:‘:—

(a) 30 m chain
30 &S Geulen

(b) 20 m chain
20 8 Qeulen

(¢) Every 5 m length
geueury 5 5 Serd

(d) Each link having
geuGeun ofltisdlen Barib

@ b @© @

(A) 3 1 2 4
(B) 1 2 4 3
V{0 2 4 1 3
(D) 4 3 1 2

(E) Answer not known -
eflen GgRweldene

490-SURVEYOR AND
DRAUGHTSMAN(CIVIL)

eTenml e p&atiLHiEDg.

~ (B) Ebony edge

cruimafl efeflb]

(D) Alidade edge
SOICL L eflefiby

Brass tallies
1Gggener Smedlev
150 links

150 dSlus@sar
20 em

20 Qs..8.

100 links

100 Mm@ gser



189. Error in area due to incorrect chain.

True area = ——.
G&@purh 2drer Qaufammed, urtiuarelld ghu@EL WGanwy.
2 GTENLOWITET LJULIGTE] = —- :

L 2
(A) Measured area x(—)

Ll
, L2
SETHESLIUL L LTULIETEY X(EJ
Ll
(B) Measured area xr
. Ll.

SlMESULLL UTLIIeTay X-I:—-

Y
Vé) Measured area X {fJ

Ll
SeTSSUIUL L LfUUeTey X (f

(D) Measured area XLI-'I—

L
SETSSUILI L LTUILeTe] X ——
Ll
(E) Answer not known
alenL Qgflweildene
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190. The horizontal distance of the sloping ground is calculated by the
formula
grleunar  Hlegdler  devrwolL  gmpw 0 ————— &5H755MD
_assmé;a%h_uu(gaflmgg. o _ ' o . S
K
h
X _
AT ‘ — ~B
» D -
v D=A1B=lcos6 (B) D=A1B=cosd
(C)" D=AB=lcosé’ (D) D=Icos@ =AB
(E) Answer not known
slen Gz flweidena
191. The process of measuring lateral distance from the chainline to the
objects which are to be plotted is called as
Qewlen Gamigelmpg Werr. Qe Coudingw @asdig LssuTLEH SITEMS
Slarellib Glewdapenp ————— aTan JdPESLILHEDS.
(A) Offset | | " (B) Chaining
- TRANAL: (ol gl el
Vé) Offsetting (D) Ranging
- TIAAAT: TR 1 ' - Crewglim
(E) Answer not known
eflenL_ Qg flweileensy
490-SURVEYOR AND 100
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192. The measurement on the chain line is recorded as

Qeuflen  ewaflld aRsstLBDd ameHdt —————  eatm uday
CewiuBEpg.
(A) Ranging (B) Offsetting
Gremgdl Dot FLIg 1l
vé) Chainage (D) Lateral distance
Qelenersy L&SGUTL( ST

(E) Answer not known
cfleni GgMueidena

-193. — - is done to locate the objects -with reference to the
chainline. '
Qellenr eneenen RsTILNES ClETeamB @&EGaamens &Ll
CewwtuGEmpg.
(A) Offset (B) Ranging
ERANIAL T ’ Crengdm
Vé) Offsetting (D) Chaining
TN AL W Geullefin

(E) Answer not known
eflenL. Qaflwelldens

194. Limits of error in 20 m chainis ———— mm.
208 Qelilafer Wenpulen eupbLgset ————— WS @ w. -
A 8 vB 5
(C) +5 D) +4

(E) Answer not known
cflenL Qaflweieene
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195. In errors in chain, due to chain not being straight is called

——————error.
sifledl Qeapsafic, sudled Crrres Gaorggrd q,mu@mgu —— ey
e SanpssliuBng.
(A) Natural ﬁ) Personal
@upenswimed ghuBID geflpunmed hupib
(C) Instrumental (D) Artificial
- smellurd ghu@id Cewunerswns gHuUED

(E) Answer not known
eflenL Qzsflwefdanc

196. The process of establishing intermediate points in line with the

terminal points before chaining is known as
QeslaliudlheE atersrs GLideae yédraflaar o Lar aaafld @&

UlgUITa  LeTefladt o (heumd@ib Qam@mm Qs —  eTar
SPUCUGEDS. -
(A) Offsetting (B) Measuring
Dol EFL 1.t SjerellHiged
vé) Ranging (D) Testing
_@U@T@nﬁu | 7 Cengener CQauiged 7

(E) Answer not known
aflen Qgfweildane

197, Indirect ranginé is also called - ranging.
weps Gremgin ——— Gremgllm eremmid SienpssiBidng.
(A) Combined (B) Double
Peenhs @rienL
V© Reciprocal (D) Single
Qljeﬂq(ﬁl;rrresa;eu R

(E) Answer not known
cflen. Qgflweidene

490-SURVEYOR AND 102
DRAUGHTSMAN(CIVIL)



198. Aniong the following identify which is correct :
Yereu(meuamauhiler ergy gflwimeng :

(1

(2)

(3

(4

A

(©

()

Signal by the surveyor

FTGeuwi STL_(Hb HFMSHSEET

Rapid sweep with right -
or left hand

UG DG GG s
Qarer(® elenyeuns evelL
Qeiged

Right or left arm —
extended

UG DG @)L g
Cgrarur e B Hsd

Slow sweep with right -
or left hand
UG DD B g na
Qarar(® CQugeurs auell
Qaliged
Both hands above head -
and then brought down
QreTH PsF®ETWD SMDES,
Gue grédl Gereni ECGip
Qare(h eu(mSeD

(2), (4) only correct

(2), (4) L Ew sNwreang

(2), (3) only correct
(2), (3) bLE® sNwrang

Answer not known
cllenL Qgflweildane

103

Action by the assistant
25HGanu 2 gellwirarfler
Qewdur@ser

Move considerably to the right
or left

auelIpib g GLOypb Crréd
B@duns BaTs0

Fix the rod

grenL QUIESSaud- ---- -

Move slowly to the right or left

GUGLIDD Bidvag @Liiypb Coréd
Qgleuns Barge

Plumb the rod to the right or left

Tl eUZLDD OO @LgGUDLD
1Slembll LIssr g SeD

- (B) (1), (4) only correct
(1), (4) v P slureng

) (1), (3) only correct
(1), (3) v efwnerg
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199. The earth surface is assumed as plane and the corrective of the

earth is original is known as
luflenm Guourly ¢ FwgeTors s&HsUUGEDg womb bluler oigd

 samenwent sRGlFlIeUE ——— erar epEaluhiSng:
\/A) Plane surveying (B) Geodetic surveying
WGarerr #rGeuulin DCwimg g6 FTGeuuin
(C) Marine surveying (D) Astronomical surveying
' Quenger #rGeuuimn curensantlgy FitGauudn

(E) Answer not known
aflen @ flweilcbana

200. lcent=——m?2,
1 Qe = ——— ggimib.
(A) 40.41 (B) 40.45
(C) 40.42 ' 'v(ﬁ) 40.47

(E) Answer not known
sllenL Ggflweiicena
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